IRW 075 (n, = 1400 06/MuH)

}IBuraanb
i 90 1100/112

75 22 . 99 18 180 . 0,90
7,5 3 135 1,4 180 0,90
75 4 . 180 . 1 . 180 . 0,90
10 15 89 2,2 195 0,89
10 2,2 131 1,5 195 0,89
10 3 178 1,1 195 0,89
10 4 . 237 08 . 195 . 089
15 11 95 2,1 195 0,85
15 1,5 129 15 195 0,85
15 2,2 189 1 195 0,85
"""""""""" 15 3 : 258 08 195 . 085
70 20 11 122 1,7 200 0,81
70 20 15 166 1,3 200 0,81
56 25 0,75 101 200 0,79
56 25 1,1 148 13 200 0,79
"""" 56 25 : 15 : 202 1 200 : 079
46,7 30 0,75 117 2 230 0,76
46,7 30 1.1 171 1,3 230 0,76
""" 467 © 30 . 15 : 233 1 . 230 . 076 :
35 40 0,55 108 2 220 0,72 RW  cp
35 40 0,75 147 1,5 220 0,72 075
35 40 11 216 1 220 0,72 PA 111
28 50 0,55 128 1,6 205 0,68 PB 13
"""" 28 . 50 075 . 174 . 12 . 205 . 068
23,3 60 0,37 97 2 195 0,64 PC 6
23,3 60 0,55 144 1,4 195 0,64 PN 130
""" 233 © 60 075 . 197 . 1 . 195 . 064
17,5 80 0,25 80 2,3 190 0,59 PM 165
17,5 80 0,37 119 1,6 190 0,59 PO 14(n=4)
,,,,, 175 :..80 . :.055 . 177 . 1.1 190 .. 0.59 . PP 200
14 100 0,25 94 1,9 180 0,55
14 100 0,37 139 1,3 180 0,55 o) 170
14 100 0,55 206 0,9 180 0,55 { ol = 45°
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